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Topic 6:A sample paper based on all topics of Arithmetic Sequence
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1) At what position 2 comes as a term of the arithmetic sequence 3
4n− 1?

(a) 4 (b) 6 (c) 12 (d) 7

2) The difference between 10 th term and 13 th term of an arithmetic sequence is 12. What is the difference
between 10 th term and 19 th term?

(a) 20 (b) 30 (c) 36 (d) 25

3) Sum of the five consecutive terms of an arithmetic sequence is 75 and its fifth term is 19

a) What is the third term of this sequence ?

b) What is the common difference ?

4) Natural numbers are grouped as in the figure
1 , 2,3 , 4,5,6 , 7,8,9,10 , · · ·

a) Write the sequence of numbers in the right end of each group

b) Which number comes in the right end of tenth group?

5) The sum of the first n terms of an arithmetic sequence is n2 + n

a) What is the first term of this sequence ?

b) Can the sum of some terms of this sequence 2021?How can you realize it?

6) a+ 1, a+ 2, a+ 3 · · · is an arithmetic sequence

a) What is its algebraic form?

b) What is the sum of first 20 terms?

7) Algebraic form of an arithmetic sequence is 3n+ 2

a) What is the common difference?

b) Write any two terms of this sequence

c) Is 123 a term of this sequence?

8) The sum of 10 th and 11 th terms of an arithmetic sequence is 48

a) What is sum of first and 20 th terms of this sequence ?

b) Write any two term positions giving the same sum in this sequence

c) Calculate the sum of first 20 terms of this sequence



2 9) Consider the arithmetic sequence −1, 3, 7, · · ·

a) What is the common difference?

b) Write the n th term of this sequence.

c) Is 95 a term of the sequence ?

d) Calculate the sum of the terms upto 95.

10) Look at the pattern carefully
13 = 12

13 + 23 = (1 + 2)2

13 + 23 + 33 = (1 + 2 + 3)2

−−−−−−−−−−−−−−−−−−−−−−−−−−−−

a) Write the next line of the pattern.

b) What is 13 + 23 + 33 + 43 + 53

c) The sum of the first 10 natural numbers is 55. What is the sum of the cubes of first 10 natural
numbers?

d) 13 + 23 + 33 + · · ·+ n3 = 441 What is n?

e) Write a formula to get the sum of the cubes of first n natural numbers.

Answers
1) 4

2) 3d = 12. Therefore 9d = 3× 12 = 36

3) a) x3 =
75
5 = 15

b) x5 − x3 = 2d
2d = 19− 15 = 4, d = 2

4) a) 1, 3, 6, 10 · · ·
b) 1 = 1, 3 = 1 + 2, 6 = 1 + 2 + 3 · · ·

xn = n(n+1)
2

x10 =
10(10+1)

2 = 55

5) a) x1 = 12 + 1 = 2

b) n2 + n = n(n + 1) It is the sum of first n even numbers.Some of even numbers cannot be an
odd number. 2021 cannot be the sum

6) a) xn = a+ n

b) (a+ 1) + (a+ 2) + (a+ 3) · · ·+ (a+ 20) = 20a+ (1 + 2 + 3 + · · ·+ 20)
It is 20a+ 210

7) a) 3

b) x1 = 3× 1 + 2 = 5
x2 = 3× 2 + 2 = 8

c) 3n+ 2 = 123, 3n = 121, n = 121
3 = 40.3. n is not a natural number. 123 is not a term.

8) a) x1 + x20 = 48

b) x2 + x19 = 48, x3 + x18 = 48

c) Sum= (x1 + x20)× 20
2 = 48× 10 = 480



39) a) d = 3− (−1) = 4

b) xn = 4n− 5

c) 4n− 5 = 95 → 4n = 100, n = 25

d) Sum = (x1 + x+ 25)× 25
2 = (−1 + 95)× 25

2 = 1175

10) a) 13 + 23 + 33 + 43 = (1 + 2 + 3 + 4)2

b) (1 + 2 + 3 + 4 + 5)2 = 225

c) 552 = 3025

d) (1 + 2 + 3 + · · ·+ n)2 = 441, 1 + 2 + 3 + · · ·+ n =
√
441 = 21

n = 6

e) (n(n+1)
2 )2

1

1Compiler : John P.A, sjpuzzles@gmail.com , jpavpz@gmail.com | 9847307721



1Revision 2022
For SSLC Examination 2021-22

Topic 6:പരിശിലനേചാദĥƚൾ . സമാɸരേΚണി

Paper 6
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1) 3
4n− 1എʭസമാʒരേδണിയിൽ 2ഏത്ЍാനȮാണ്?

(a) 4 (b) 6 (c) 12 (d) 7

2) ഒͩ സമാʒരേδണി͆െട പȮാം പദΖം പതി̯ʭാം പദΖം ത̼ിͬч വĿതĿാസം 12ആയാൽ പȮാം
പദΖം പെȮാൻപതാം പദΖം ത̼ിͬч വĿതĿാസം എɃ?

(a) 20 (b) 30 (c) 36 (d) 25

3) സമാʒരേδണി͆െട Ȫടർƹയായ അǠ് പദƴхെട Ȫക 75ആണ് . അǠാം പദം 19

a) ̯ʭാം പദം എɃ?

b) േδണി͆െട െപാȪവĿതĿാസം എɃ?

4) എȤൽസംഖĿകൾ താെഴ െകാǮȮിരിŉʭ തരȮിൽ Ơˑകളാňിയിരിŉʮ
1 , 2,3 , 4,5,6 , 7,8,9,10 , · · ·

a) ഓേരാ Ơːിെല͆ം വലെȮഅѯെȮസംഖĿകൾ േδണിയായി എъȪക

b) പȮാമെȮ Ơːിെല വലെȮഅѯെȮസംഖĿ ഏത് ?

5) ഒͩ സമാʒരേδണി͆െട ആദĿെȮnപദƴхെട Ȫക n2 + nആണ്

a) ആദĿപദം എɃ?

b) ഈ േδണിയിെല പദƴхെട Ȫക 2021ആŃേമാ?എʓെകാȒ് ?

6) a+ 1, a+ 2, a+ 3 · · · ഒͩ സമാʒരേδണിയാണ്

a) ബീജഗണിതͪപം എъȪക

b) ആദĿെȮ 20പദƴхെട Ȫക കണňാŉക.

7) ഒͩ സമാʒരേδണി͆െട ബീജഗണിതͪപം 3n+ 2ആണ്

a) െപാȪവĿതĿാസം എɃ?

b) രȒ് പദƴൾ എъȪക

c) 123ഈേδണിയിെല പദമാേണാ?

8) ഒͩ സമാʒരേδണി͆െട പȮാം പദȮിെʾ͆ം പതിെനാʭാം പദȮിെʾ͆ം Ȫക 48

a) ആദĿപദȮിെʾ͆ം ഇͩപതാം പദȮിെʾ͆ം Ȫക എɃ?

b) ഇേത Ȫക വͩʭ മѯ് രȒ് പദЍാനƴൾഎъൃȪക

c) ആദĿെȮ 20പദƴхെട Ȫക എɃ?



2 9) −1, 3, 7, · · ·എʭസമാʒരേδണിയിൽ

a) െപാȪവĿതĿാസം എɃ?
b) േδണി͆െട n-ാം പദം എɃ?
c) 95ഈേδണി͆െട പദമാേണാ?
d) 95വെര͆ч പദƴхെട Ȫക എɃ?

10) Look at the pattern carefully
13 = 12

13 + 23 = (1 + 2)2

13 + 23 + 33 = (1 + 2 + 3)2

−−−−−−−−−−−−−−−−−−−−−−−−−−−−

a) അǮȮ വരി എъȪക.
b) 13 + 23 + 33 + 43 + 53എɃ?
c) ആദĿെȮ 10എȤൽസംഖĿകхെടȪക 55ആണ്. ആദĿെȮപȮ്എȤൽസംഖĿകхെടഘനƴхെട
Ȫക എɃ?

d) 13 + 23 + 33 + · · ·+ n3 = 441ആയാൽ nഎɃ?
e) ആദĿെȮ nഎȤൽസംഖĿകхെട ഘനƴхെട Ȫക കണňാŉʭതിʎчϮɃവാകĿം എъȪക .

Answers
1) 4

2) 3d = 12. Therefore 9d = 3× 12 = 36

3) a) x3 =
75
5 = 15

b) x5 − x3 = 2d
2d = 19− 15 = 4, d = 2

4) a) 1, 3, 6, 10 · · ·
b) 1 = 1, 3 = 1 + 2, 6 = 1 + 2 + 3 · · ·

xn = n(n+1)
2

x10 =
10(10+1)

2 = 55

5) a) x1 = 12 + 1 = 2

b) n2+n = n(n+1) . ഇത്ആദĿെȮ nഇരǲസംഖĿകхെടȪകകണňാŉʭതിʎчϮɃവാകĿമാണ്
. അതായത് േδണി ഇരǲസംഖĿകхെട േδണിയാണ്. ഇരǲസംഖĿകхെട Ȫക ഒരിňͬം ഒѯസംഖĿ
ആŃʭിΓ.

6) a) xn = a+ n

b) (a+ 1) + (a+ 2) + (a+ 3) · · ·+ (a+ 20) = 20a+ (1 + 2 + 3 + · · ·+ 20)
It is 20a+ 210

7) a) 3

b) x1 = 3× 1 + 2 = 5
x2 = 3× 2 + 2 = 8

c) 3n+ 2 = 123, 3n = 121, n = 121
3 = 40.3. nഎʭത് എȤൽസംഖĿ അΓ. 123 പദമΓ.

8) a) x1 + x20 = 48

b) x2 + x19 = 48, x3 + x18 = 48

c) Ȫക= (x1 + x20)× 20
2 = 48× 10 = 480



39) a) d = 3− (−1) = 4

b) xn = 4n− 5

c) 4n− 5 = 95 → 4n = 100, n = 25

d) Sum = (x1 + x+ 25)× 25
2 = (−1 + 95)× 25

2 = 1175

10) a) 13 + 23 + 33 + 43 = (1 + 2 + 3 + 4)2

b) (1 + 2 + 3 + 4 + 5)2 = 225

c) 552 = 3025

d) (1 + 2 + 3 + · · ·+ n)2 = 441, 1 + 2 + 3 + · · ·+ n =
√
441 = 21

n = 6

e) (n(n+1)
2 )2

1
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1) Which of the following is a point on y axis

(a) (1, 1) (b) (0,−3) (c) (−3, 0) (d) (3, 2)

2) The line passing through (0, 3) parallel to x axis and the line passing through (4, 0) parallel to y axis
meet at P . What are the coordinates of P

(a) (3, 4) (b) (4, 3) (c) (−3, 4) (d) (3,−4)

3) A(4, 0), B(0, 4), C(−4, 0), D(0,−4)are the vertices of a quadrilateral.

a) Draw co-ordinate axes and mark the points and suggest a suitable name to ABCD

b) What is the area of ABCD?

4) (3, 4) is a point on a circle with center at the origin.

a) What is the radius of the circle?
b) What are the points where the circle cut the axes?

5) A(3, 4), B(−3, 4), C(−3,−4), D(3,−4) are vertices of a rectangle .

a) Find the length of the sides
b) What is the area of ABCD?

6) In the figure O is the origin of coordinates and ABCD is a square, ∠AOD = 45◦.If OD =
√
18 then

a) Write the coordinates of the vertices of the square ABCD,
b) What is the area of ABCD?

7) A(3, 2), B(9, 2) and C(5, 7) are the vertices of a triangle.

a) What is the length of the side parallel to x axis
b) What is the altitude to that side?
c) Calculate the area of tiangle ABC



2 8) P (6, 8) is a point on a circle with center at the origin.Q is a point on the circle such that OQ makes
angle 30◦ with x axis as in the figure

a) What is the radius of the circle?
b) What are the points where the circle cut the axes?
c) Write the coordinates of Q

9) △ABC is an equilateral triangle.A(2, 2), B(6, 2)

a) Find the length of the side.
b) Calculate the altitude to the side
c) Write the coordinates of C
d) Calcualte the area of the triangle

10) Draw coordinate axes and mark the point A(−2,−2).

a) Move 4 unit parallel to y axis in the positive direction and mark the coordinates of B.
b) Move 6 unit to the right from B parallel to x axis and mark C with the coordinates.
c) Move 4 unit parallel to y axis up and mark D with its coordinates.
d) Find the distance AD

Answers
1) (0,−3)

2) (4, 3)

3) a) Square
b) (4

√
2)2 = 16× 2 = 32

4) a) r =
√
32 + 42 =

√
25 = 5

b) (5, 0), (0, 5), (−5, 0), (0,−5)

5) a) AB =| 3− (−3) |= 6, BC = 8

b) Area = 6× 8 = 48

6) a) OA =
√
18√
2
= 3

A(3, 0), B(6, 0), C(6, 3), D(3, 3)

b) 32 = 9

7) a) | 9− 3 |= 6

b) | 7− 2 |= 5



3c) 1
2 × 6× 5 = 15

8) a)
√
62 + 82 = 10

b) (10, 0), (0, 10), (−10, 0), (0,−10)

c) Draw perpendicular from Q to x axis. It is QA
Triangle QAO is a 30− 60− 90 right triangle.
Q(−5

√
3, 5)

9) a) AB =| 6− 2 |= 4

b) 2
√
3

c) Draw CP perpendicular to AB. Triangle CPA is a 30− 60− 90 triangle, P (4, 0)
Coordinates of C are (4, 2 + 2

√
3)

d) 1
2 × 4× 2

√
3 = 4

√
3

10) Draw co-ordinate axes and mark the points

a) B(−2, 2)

b) C(4, 2)

c) D(4, 6)

d) Distance between A(−2,−2) and D(4, 6) is AD
AD =

√
(−2− 4)2 + (−2− 6)2 =

√
36 + 64 = 10

1
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1) താെഴ െകാǮȮിരിŉʭതിൽ yഅŬȮിെല ബിʠ

(a) (1, 1) (b) (0,−3) (c) (−3, 0) (d) (3, 2)

2) (0, 3)ͭെട xഅŬȮിന്സമാʒരമാ͆ം (4, 0)ͭെട yഅŬȮിന്സമാʒരമാ͆ം വരŉʭവര Pയിൽ
ഖșിŉʮ.P͆െട ϮചകസംഖĿകൾ ഏെതΓാം?

(a) (3, 4) (b) (4, 3) (c) (−3, 4) (d) (3,−4)

3) A(4, 0), B(0, 4), C(−4, 0), D(0,−4)എʭിവ ചȪർ̧ജȮിെʾ ശീർഷƴളാണ് .

a) ϮചകാŬƴൾ വരƹ് ബിʠňൾഅടയാളെːǮȮി ABCDഎʭ ചȪർ̧ജȮിെʾ േപെരъȪക
b) ABCD͆െട പരːളവ് എɃ?

4) ആധാരബിʠ േകʣമായ ΘȮȮിെല ബിʠവാണ് (3, 4).

a) ആരം എɃ?
b) ΘȮം ϮചകാŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?

5) A(3, 4), B(−3, 4), C(−3,−4), D(3,−4)എʭിവ ചȪരȮിെʾ ശീർഷƴളാണ് .

a) വശƴхെട നീളം എъȪക
b) ABCD͆െട പരːളവ് എɃ?

6) OആധാരബിʠΖം ABCD സമചȪരΖമാണ് , ∠AOD = 45◦. OD =
√
18ആയാൽ

a) ABCD͆െട ശിർഷƴхെട ϮചകസംഖĿകൾ എъȪക,
b) ABCD͆െട പരːളവ് എɃ?

7) A(3, 2), B(9, 2), C(5, 7)എʭിവ ɃിേകാണȮിെʾ ശീർഷƴളാണ്

a) xഅŬȮിന് സമാʒരമായ വശം അത് ?
b) ഈ വശേȮŉч ഉʭതി എɃ?
c) Ƀിേകാണം ABC͆െട പരːളവ് എɃ?



2 8) ആധാരബിʠ േകʣമായ ΘȮȮിെല ഒͩ ബിʠവാണ് P (6, 8) .ഈ ΘȮȮിെല മെѯാͩ ബിʠവാണ്
Q. ńടാെത OQഎʭ വര 30◦ േകാൺ xഅŬΖമായി ഉȒാŉʮ

a) ΘȮȮിെʾആരം എɃ?
b) ΘȮം അŬƴെള ഖșിŉʭബിʠňൾ എъȪക
c) Qഎʭബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക

9) △ABC ഒͩ സമ̧ജɃിേകാണമാണ് .A(2, 2), B(6, 2)ആയാൽ

a) വശȮിെʾ നീളെമɃ?
b) ഉʭതി എɃ?
c) C͆െട ϮചകസംഖĿകൾ എъȪക
d) ɃിേകാണȮിെʾ പരːളവ് കണňാŉക

10) Ϯചകാഷƴൾ വരƹ് A(−2,−2)അടയാളെːǮȯക.

a) Aയിൽ നിʮംyഅŬȮിന് സമാʒരമായി ̮കളിേലň് 4͇ണിѯ് മാѯി് BഅടയാളെːǮȯക.
b) Bയിൽ നിʮം 6 ͇ണിѯ് xഅŬȮിന് സമാʒരമായി വലേȮň് വരƹ് CഅടയാളെːǮȯക.
c) Cയിൽ നിʭ് 4͇ണിѯ് ̮കളിേലň് yഅŬȮിന് സമാʒരമായി നീƴി DഅടയാളെːǮȯക.
d) ADകണňാŉക

Answers
1) (0,−3)

2) (4, 3)

3) a) സമചȪരം
b) (4

√
2)2 = 16× 2 = 32

4) a) r =
√
32 + 42 =

√
25 = 5

b) (5, 0), (0, 5), (−5, 0), (0,−5)

5) a) AB =| 3− (−3) |= 6, BC = 8

b) പരːളവ് = 6× 8 = 48

6) a) OA =
√
18√
2
= 3

A(3, 0), B(6, 0), C(6, 3), D(3, 3)

b) 32 = 9

7) a) | 9− 3 |= 6

b) | 7− 2 |= 5



3c) 1
2 × 6× 5 = 15

8) a)
√
62 + 82 = 10

b) (10, 0), (0, 10), (−10, 0), (0,−10)

c) Q യിൽ നിʭ് xഅŬȮിേലň് ലംബം വരŉക. ഇത് QAആണ്
Ƀിേകാണം QAO ഒͩ 30− 60− 90Ƀിേകാണമാണ് .
Q(−5

√
3, 5)

9) a) AB =| 6− 2 |= 4

b) 2
√
3

c) CPഎʭ വര AB്͍ ലംബമായി വരŉക. Ƀിേകാണം CPA ഒͩ 30 − 60 − 90 Ƀിേകാണം ,
P (4, 0)
C ͆െട ϮചകസംഖĿകൾ (4, 2 + 2

√
3)

d) 1
2 × 4× 2

√
3 = 4

√
3

10) a) B(−2, 2)

b) C(4, 2)

c) D(4, 6)

d) A(−2,−2) ͆ം D(4, 6) ത̼ിͬчഅകലം AD
AD =

√
(−2− 4)2 + (−2− 6)2 =

√
36 + 64 = 10

1
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1) The distance between the points (3,−5) and (5,−1) is

(a) 2
√
5 (b) 3

√
5 (c) 6

√
5 (d)

√
5

2) The distance between the points P (1,−2) and Q(a, 1) is 5. Which of the following is one of the values
of a

(a) −3 (b) 7 (c) 1 (d) 9

3) P is a point on y axis .Two other points are A(13, 2) and B(12,−3) . If PA = PB then

a) What is the x coordinate of P ?
b) Find the co-ordinates of P ?

4) A(2, 3), B(3, 4) and C(4, 5) are three points on a plane

a) Find the distances AB,BC and AC

b) Are these points on a line? How can you realize?

5) Consider the points A(2, 4), B(6, 8) and C(2, 8)

a) Find the length of the sides of triangle ABC

b) What kind of triangle is this?

6) ABCD is a square in which one pair the opposite vertices are A(3, 4) and C(5, 6)

a) Find the length of the diagonal
b) What is the area of the square?

7) Draw the coordinates axes and mark the points on the plane

a) A(1, 0), B(6, 0), C(8, 3) and D(3, 3)

b) Write the most suitable name to ABCD

c) Calculate the area of ABCD.

8) A circle with center at the origin cut y axis at (0, 5)

a) Write the coordinates of other three points on this circle
b) What is the radius of this circle?
c) Verify that (4, 4) is a point on this circle

9) ABCD is a parallelogram . A(1, 1), B(7, 1) and C(11, 4)

a) What is the length of the side parallel to x axis ?
b) Find the length of other side
c) Find the coordinates of the vertex D
d) Calculate the area of the parallelogram.



2 10) A(−4,−3), B(4,−3), C(7, 5)D(−7, 5) are the vertices of a quadrilateral

a) Observing the coordinates of the vertices suggest a suitable name to ABCD

b) Find the length of its parallel sides
c) What is the distance between the parallel sides?
d) Calculate the area of ABCD

Answers
1) Distance =

√
(5− 3)2 + (−1−− 5)2 =

√
22 + 42 =

√
20 = 2

√
5

2)
√

(a− 1)2 + (1−− 2)2 = 5
Squaring on both sides , (a− 1)2 + 32 = 25, (a− 1)2 = 25− 9 = 16, a− 1 = 4,−4
If a− 1 = −4, a = −3

3) a) 0

b) (0, 2)

4) a) AB =
√
2, BC =

√
2, AC = 2

√
2

b) Since AB +BC = AC we can say A,B,C are on a line.

5) a) AC = 4, BC = 4, AB = 4
√
2

b) Since the sides are in the ratio 1 : 1 :
√
2 we can say it is a 45◦ − 45◦ − 90◦ triangle.It is an

isosceles right triangle.

6) a) AC =
√
(5− 3)2 + (6− 4)2 = 2

√
2

b) Area 1
2 ×AC2 = 1

2 × (2
√
2)2 = 8

2 = 4

7) a) Mark the points using co-ordinate axes.
b) Parallelogram
c) 5× 3 = 15

8) a) (0,−5), (5, 0), (−5, 0)

b) 5

c) Distance between (0, 0) to (4, 4) is =
√
(4− 0)2 + (4− 0)2 =

√
42 + 42 =

√
32 > 5.

(4, 4) is not a point on the circle.

9) a) AB =| 7− 1 |= 6

b) BD =
√
42 + 32 =

√
25 = 5

c) D(5, 4)

d) Distance between the parallel sides AB and CD is 4− 1 = 3
Area = 6× 3 = 18

10) a) AB and CD are parallel to x axis . So these are prallel sides.Other two sides BC and AD are
not parallel. ABCD is an isosceles trapezium.

b) AB =| 4−− 4 |= 8, CD =| 7−− 7 |= 14

c) Distance between the parallel sides is | 5−− 3 |= 8

d) Area = 1
2 × h× (a+ b) = 1

2 × 8× (8 + 14) = 88
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1) (3,−5) , (5,−1)എʭീ ബിʠňൾ ത̼ിͬч അകലം

(a) 2
√
5 (b) 3

√
5 (c) 6

√
5 (d)

√
5

2) P (1,−2) , Q(a, 1) എʭിവ ത̼ിͬч അകലം 5ആയാൽ aഎɃയാണ് ?

(a) −3 (b) 7 (c) 1 (d) 9

3) y അŬȮിെല ബിʠവാണ് P .ńടാെത A(13, 2) ,B(12,−3) മѯ് രȒ് ബിʠňൾ . PA = PB ആയാൽ

a) P͆െട xϮചകസംഖĿ ഏത് ?

b) P͆െട ϮചകസംഖĿകൾ എъȪക?

4) A(2, 3), B(3, 4) , C(4, 5) എʭിവ ̯ʭ് ബിʠňളാണ്

a) AB,BC , ACഎʭിവ കണňാŉക

b) A,B,Cഎʭിവ ഒͩ വരയിലാേണാ? എƴെന മനസിലാňാം?

5) A(2, 4), B(6, 8) C(2, 8)എʭീ ബിʠňൾ പരിഗണിŉക

a) Ƀിേകാണം ABC͆െട വശƴൾ കണňാŉക

b) ഇത് ഏത് തരം Ƀി്േകാണമാണ് ?

6) ABCD എʭ സമചȪരȮിൽ എതിർശീർഷƴൾ A(3, 4) ,C(5, 6)ആണ്

a) വികർȤȮിെʾ നീളെമɃ?

b) സമചȪരȮിെʾ വശെമɃ?

7) ϮചകാŬƴൾ വരƹ് അടയാളെːǮȯക

a) A(1, 0), B(6, 0), C(8, 3) and D(3, 3)

b) ABCD͆െട ഉചിതമായ േപെരʒ്?

c) ABCD͆െട പരːളവ് കണňാŉക.

8) ആധാരബിʠ േകʣമായ ΘȮം y അŬെȮ (0, 5)യിൽ ഖșിŉʮ

a) ΘȮȮിെല മѯ് ̯ʭ് ബിʠňхെട ϮചകസംഖĿകൾ എъȪക

b) ΘȮȮിെʾ ആരം എɃ?

c) (4, 4)ഈ ΘȮȮിലാേണാ എʭ് പരിേശാധിŉക

9) ABCD ഒͩ സാമാʒരീകമാണ് . A(1, 1), B(7, 1) and C(11, 4)

a) x അŬȮിന് സമാʒരമായ വശം ഏത് ?

b) മѯ് വശƴхെട നീളെമɃ?

c) D͆െട ϮചകസംഖĿകൾ എъȪക

d) സാമാʒരീകȮിെʾ പരːളവ് കണňാŉക.



2 10) A(−4,−3), B(4,−3), C(7, 5)D(−7, 5) എʭിവ ചȪർ̧ജȮിെʾ ശീർഷƴളാണ്

a) ശീർഷƴхെട ϮചകസംഖĿകൾ േനാňി ABCD്͍ ഉചിതമായ േപെരъȪക
b) സമാʒരവശƴхെട നീളെമɃ?
c) സമാʒരവശƴൾ ത̼ിͬч അകലെമɃ?
d) ABCD͆െട പരːളവ് കണňാŉക

Answers
1) അകലം =

√
(5− 3)2 + (−1−− 5)2 =

√
22 + 42 =

√
20 = 2

√
5

2)
√

(a− 1)2 + (1−− 2)2 = 5
Squaring on both sides , (a− 1)2 + 32 = 25, (a− 1)2 = 25− 9 = 16, a− 1 = 4,−4
If a− 1 = −4, a = −3

3) a) 0

b) (0, 2)

4) a) AB =
√
2, BC =

√
2, AC = 2

√
2

b) Since AB +BC = AC we can say A,B,C are on a line.

5) a) AC = 4, BC = 4, AB = 4
√
2

b) വശƴൾ 1 : 1 :
√
2എʭ അംശബʦȮിലായതിനാൽ 45◦−45◦−90◦ Ƀിേകാണം .സമപാർശłമǲɃിേകാണം

.

6) a) AC =
√
(5− 3)2 + (6− 4)2 = 2

√
2

b) Area 1
2 ×AC2 = 1

2 × (2
√
2)2 = 8

2 = 4

7) a) ചിɃം വരƹ് അടയാളെːǮȯക.
b) സാമാʒരീകം
c) 5× 3 = 15

8) a) (0,−5), (5, 0), (−5, 0)

b) 5

c) (0, 0) , (4, 4) ത̼ിͬч അകംല =
√
(4− 0)2 + (4− 0)2 =

√
42 + 42 =

√
32 > 5.

(4, 4) ΘȮȮിലΓ..

9) a) AB =| 7− 1 |= 6

b) BD =
√
42 + 32 =

√
25 = 5

c) D(5, 4)

d) AB ,CD എʭീ സമാʒരവശƴൾ ത̼ിͬч അകലം 4− 1 = 3
പരːളവ് = 6× 3 = 18

10) a) AB ,CD എʭിവ x അŬȮിന് സമാʒരം . ഇവ സമാʒരവരകളാണ് .മѯ് രȒ് വശƴൾ BC ,
AD സമാʒരമΓ. ABCD സമപാർശłലംബകം .

b) AB =| 4−− 4 |= 8, CD =| 7−− 7 |= 14

c) സമാʒരവശƴൾ ത̼ിͬч അകംല | 5−− 3 |= 8

d) പരːളവ് = 1
2 × h× (a+ b) = 1

2 × 8× (8 + 14) = 88
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1) What is the distance between the points (−1, 7) and (8, 7)

(a) 4 (b) 9 (c) 10 (d) 8

2) Center of a circle is (3, 4) and radius 5. Which of the following is a point on this circle ?

(a) (3, 3) (b) (8, 1) (c) (12, 4) (d) (0, 0)

3) In the figureAB andCD are the perpendicular diameters of the circle with center at the origin.IfB(3, 0)
then

a) Write the coordinates of C

b) What is the area of the square ABCD

4) O is the origin of coordinates and OABC is a rectangle. If B(3, 4)

a) Write the coordinates of A and C

b) If OADE is the reflection of the rectangle on x axis then write the coordinates of D and E

5) (2, 3) is a point on a circle with center at the origin

a) What is the radius of this circle

b) Write the coordinates of a point where the circle cut the axes



2 6) A(−4,−1) and B(4,−1) are the vertices of the triangle ABC shown in the figure

a) Write the coordinates of P

b) If the altitude CP = 5 then write the coorinates of C

7) A(1, 1), B(4, 1) and C(1, 5) are the vertices of a triangle

a) By observing the vertices write the largest angle of this triangle.

b) What is the length of BC?

c) What is the radius of the circle passing through the vertices?

8) A(2, 0), B(−6,−2), C(−4,−4) and D(4,−2) are the vertices of a quadrilateral

a) Find the sides of the quadrilateral

b) Find the length of the diagonals

c) Suggest a suitable name to this quadrilateral

9) y axis is the tangent to the circle at the origin of coordinates.(5, 0) is the center of the circle.

a) Write the coordinates of A

b) If CD is the diameter perpendicular to x axis then write the coordinates of C and D

c) P is a point on this circle such that OP = 8. Find the length AP .

10) As you know if a and b are the parallel sides and h is the distance between the parallel sides then the
area of the trapezium is 1

2h(a+ b)
In the figure you can see three trapeziums and a triangle with vertices A(1, 3), B(8, 5) and C(4, 10)

a) Write the length of PA,QC and RB which are the parallel sides of the trapeziums

b) Calculate the area of APQC , CQRB .



3c) Calculate the area of PABR

d) Find the area of triangle ABC

Answers
1) | 8−− 1 |= 9

2) (0, 0)

3) a) (0, 3)

b) BC = 3
√
2. Area = d2

2 = 62

2 = 18

4) a) A(3, 0), C(0, 4)

b) D(3,−4) and E(0,−4)

5) a) Radius =
√
22 + 32 =

√
13

b) (
√
13, 0), (0,

√
13), (−

√
13, 0), (0,−

√
13)

6) a) (0,−1)

b) C(0, 4)

7) a) 90◦

Since AB is parallel to x axis and AC parallel to y axis ,∠A = 90◦

b) BC =
√
(1− 4)2 + (5− 1)2 =

√
(−3)2 + 42 =

√
25 = 5

c) 5
2

8) a) AB =
√
(2−− 6)2 + (0−− 2)2 =

√
82 + 22 =

√
68

BC =
√
(−6−− 4)2 + (−2−− 4)2 =

√
(−2)2 + 22 = 2

√
2

CD =
√
(4−− 4)2 + (−2−− 4)2 =

√
82 + 22 =

√
68

AD =
√
(4− 2)2 + (−2− 0)2 =

√
22 + (−2)2 = 2

√
2

b) AC =
√
52, BD = 10

c) Opposite sides are equal and diagonals are not equal. So it is a parallelogram.

9) a) A(10, 0)

b) C(5, 5), D(5,−5)

c) Triangle OPA is a right triangle. AP = 6

10) a) PA = 3, QC = 10, RB = 5

b) PQ = 4− 1 = 3
Area = 1

2 × 3× (3 + 10) = 39
2 = 19.5

QR = 8− 4 = 4
Area = 1

2 × 4× (10 + 5) = 60
2 = 30

c) PR = 8− 1 = 7
Area = 1

2 × 7× (3 + 5) = 56
2 = 28

d) Area = 19.5 + 30− 28 = 21.5
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1) (−1, 7) , (8, 7)എʭീ ബിʠňൾ ത̼ിͬчഅകലെമɃ?

(a) 4 (b) 9 (c) 10 (d) 8

2) (3, 4) േകʣമായ ΘȮȮിെʾആരം5െസ.മീ . ഈ ΘȮȮിെല ഒͩ ബിʠ ഏത് ??

(a) (3, 3) (b) (8, 1) (c) (12, 4) (d) (0, 0)

3) ചിɃȮിൽAB ,CDഎʭിവപരДരംലംബമായവĿാസƴളാണ് . ഈΘȮȮിെʾ േകʣംആധാരബിʠ
ആണ് . B(3, 0)ആയാൽ

a) C͆െട ϮചകസംഖĿകൾ എъȪക

b) ABCD͆െട പരːളവ് കണňാŉക

4) O ആധാരബിʠΖം OABC ചȪരΖമാണ് . B(3, 4)ആയാൽ

a) A ͆െട͆ം C͆െട͆ം ϮചകസംഖĿകൾ എъȪക

b) OADE എʭത് ചȪരം xഅŬെȮഅടിЍാനമാňിയ ˗തിപതനമാണ് .D͆െട͆ം E͆െട͆ം
ϮചകസംഖĿകൾ എъȪക.

5) (2, 3)എʭത് ആധാരബിʠ േകʣമായ ΘȮȮിെല ബിʠവാണ് .

a) ആരം എɃ?

b) ΘȮം ϮചകാŬƴെള ഖșി്ŉʭബിʠ ഏത് ?



2 6) A(−4,−1) ,B(4,−1)എʭിവ Ƀിേകാണം ABC ͆െട ശീർഷƴളാണ്

a) P͆െട ϮചകസംഖĿകൾ എъȪക

b) ഉʭതി CP = 5ആയാൽ C͆െട ϮചകസംഖĿകൾ എъȪക

7) A(1, 1), B(4, 1) , C(1, 5)എʭിവ ɃിേകാണȮിെʾ ശീർഷƴളാണ്

a) ϮചകസംഖĿകൾ പരിേശാധിƹ് ɃിേകാണȮിെʾ ഏѯΖം വലിയ േകാണളവ് എъȪക

b) BC͆െട നീളെമɃ?

c) ശീർഷƴളിͭെട കടʮേപാŃʭ ΘȮȮിെʾആരം എɃ??

8) A(2, 0), B(−6,−2), C(−4,−4) ,D(4,−2)എʭിവ ചȪർ̧ജȮിെʾ ശീർഷƴളാണ്

a) വശƴхെട നീളം കണňാŉക

b) വികർȤƴхെട നീളം കണňാŉക

c) ചȪർ̧ജȮിന് ഉചിതമായ േപെരʒ് ?

9) y അŬംആധാരബിʠവിൽ ΘȮȮിെʾ െതാǮവരയാണ് .(5, 0) ΘȮേകʣമായാൽ

a) A͆െട ϮചകസംഖĿകൾ എъȪക

b) CD എʭ വര x അŬȮിന് ലംബമായ വĿാസമായാൽ C , Dഎʭിവ͆െട ϮചകസംഖĿകൾ
എъȪക

c) P ΘȮȮിെല ബിʠവാണ് .OP = 8ആയാൽ APഎɃ?

10) a ,bഎʭിവസമാʒരവശƴхം hഅവത̼ിͬчഅകലΖമാണ് . ലംബകȮിെʾപരːളവ്= 1
2h(a+b)

ചിɃȮിൽ ̯ʭ് ലംബകƴхȒ് , A(1, 3), B(8, 5) C(4, 10)ɃിേകാണȮിെʾ ശീർഷƴളാണ്

a) PA,QC , RB എʭീ നീളƴൾ കണňാŉക

b) APQC , CQRB എʭിവ͆െട പരːളവ് കണňാŉക.



3c) PABRഎʭ ചȪർ̧ജȮിെʾ പരːളവ് എɃ?
d) Ƀിേകാണം ABC͆െട പരːളവ് എɃ?

Answers
1) | 8−− 1 |= 9

2) (0, 0)

3) a) (0, 3)

b) BC = 3
√
2. Area = d2

2 = 62

2 = 18

4) a) A(3, 0), C(0, 4)

b) D(3,−4) and E(0,−4)

5) a) ആരം =
√
22 + 32 =

√
13

b) (
√
13, 0), (0,

√
13), (−

√
13, 0), (0,−

√
13)

6) a) (0,−1)

b) C(0, 4)

7) a) 90◦
AB എʭത് xഅŬȮിന് സമാʒരം , AC എʭത് y അŬȮിന് സമാʒരം ,∠A = 90◦

b) BC =
√
(1− 4)2 + (5− 1)2 =

√
(−3)2 + 42 =

√
25 = 5

c) 5
2

8) a) AB =
√
(2−− 6)2 + (0−− 2)2 =

√
82 + 22 =

√
68

BC =
√
(−6−− 4)2 + (−2−− 4)2 =

√
(−2)2 + 22 = 2

√
2

CD =
√
(4−− 4)2 + (−2−− 4)2 =

√
82 + 22 =

√
68

AD =
√
(4− 2)2 + (−2− 0)2 =

√
22 + (−2)2 = 2

√
2

b) AC =
√
52, BD = 10

c) എതിർവശƴൾ ȪലĿം . വികർȤƴൾ ȪലĿമΓ.ഇത് സാമാʒരീകമാണ്

9) a) A(10, 0)
b) C(5, 5), D(5,−5)

c) Ƀിേകാണം OPA ഒͩ മǲɃിേകാണം . AP = 6

10) a) PA = 3, QC = 10, RB = 5

b) PQ = 4− 1 = 3
പരːളവ് = 1

2 × 3× (3 + 10) = 39
2 = 19.5

QR = 8− 4 = 4
പരːളവ് = 1

2 × 4× (10 + 5) = 60
2 = 30

c) PR = 8− 1 = 7
പരːളവ് = 1

2 × 7× (3 + 5) = 56
2 = 28

d) പരːളവ് = 19.5 + 30− 28 = 21.5
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1) In the polynomial x2 − 1 which of the following is a factor .

(a) x+ 1 (b) x− 1 (c) x+ 1 and x− 1 (d) None of these

2) One of the first degree factors of x2+5x+6 is x+2. What is the other first
degree factor of this polynomial?

(a) x− 1 (b) x− 3 (c) x+ 1 (d) x+ 3

3) x2 + 7x+ 12 is written as the product of (x+ a) and (x+ b)

a) What is a+ b and ab

b) Write the first degree factors of x2 + 7x+ 12

4) In the polynomial p(x) = x2 + 5x+ 6 , p(−2) = 0.

a) Write a first degree factor of p(x)
b) Write other first degree factor of p(x)

5) xn + 1 is polynomial of degree n.

a) What is p(−1) when n is an odd integer?
b) Write the first degree common factor of p(x) for n = 3 and 5

6) p(x) is a polynomial in which p(−1) = p(2) = 0

a) What are two first degree factors of p(x)
b) Write a third degree polynomial having one more factor x − 1 other than

the first degree factors of p(x)

7) Area of a rectangle is p(x) = x2 + x− 2. One side is x− 1

a) If other side is ax+ b then find a and b.
b) Find the other side of the rectangle.
c) What is the area of the rectangle for x = 2?

8) p(x) = x3 − 4x2 + 3x+ k is a polynomial in which x− 1 is a factor

a) Find k



2 b) Write the polynomial
c) Prove that x+ 1 is a factor of p(x)− p(−1)

9) p(x) = x2 + 7x− 44 is a polynomial

a) If p(x) = (x+ a)(x+ b) then find a+ b and ab

b) Find the first degree factors of p(x)
c) Solve the equation p(x) = 0

10) p(x) = ax3 + bx2 + cx+ d is a polynomial

a) If x− 1 is a factor of p(x) then what is a+ b+ c+ d?
b) If x+ 1 is a factor of p(x) then write the relaton between the coefficients

a, b, c and d

c) If both (x− 1) and (x+ 1) are the factors of p(x) then write the relation
between the coefficients.

d) Write a third degree polynomilal having two factors x+ 1 and x− 1

Answers
1) x+ 1 and x− 1

2) x+ 3

3) a) x2 + 7x+ 12 = (x+ a)(x+ b) = x2 + (a+ b)x+ ab

a+ b = 7, ab = 12

b) a = 4, b = 3
x2 + 7x+ 12 = (x+ 4)(x+ 3)

4) a) x+ 2

b) Other first degree factor is ax+ b

x2 + 5x+ 6 = (x+ 2)(ax+ b)
Equating the coefficients a = 1, 6 = 2b, b = 6

2 = 3
Other factor is ax+ b → x+ 3

5) a) When n is an odd integer p(−1) = (−1)odd + 1 = −1 + 1 = 0

b) For n = 3 and n = 5 , p(−1) = 0
x+ 1 is a factor common in these cases.

6) a) (x+ 1), (x− 2)

b) p(x) = (x− 1)(x+ 1)(x− 2) = (x2 − 1)(x− 2) = x3 − 2x2 − x+ 2

7) a) x2 + x− 2 = (x− 1)(ax+ b)
Equating the coefficients ax2 = x2 → a = 1
−2 = −b, b = 2



3b) Other side ax+ b is x+ 2

c) Whenx = 2 area is 22 + 2− 2 = 4

8) a) Since x− 1 is a factor p(1) = 0
13 − 4× 12 + 3× 1 + k = 0
k = 0

b) p(x) = x3 − 4x2 + 3x

c) p(−1) = (−1)3 − 4(−1)2 + 3(−1) = −8
p(x)− p(−1) = x3 − 4x2 + 3x− (−8) = x3 − 4x2 + 3x+ 8
When x = −1 the value of the polynomial x3 − 4x2 + 3x + 8 become
0.That is x+ 1 is a factor of p(x)− p(−1)

9) a) x2 + 7x− 44 = (x+ a)(x+ b) = x2 + (a+ b)x+ ab
a+ b = 7, ab = −44

b) (a− b)2 = (a+ b)2 − 4ab
(a− b)2 = 72 − 4×−44 = 49 + 176 = 225, a− b = 15
a+ b = 7, a− b = 15 → 2a = 22, a = 11, b = −4

c) x+ 11, x− 4 are the factors
d) p(x) = (x+ 11)(x− 4)

(x+ 11)(x− 4) = 0 → x+ 11 = 0, x = −11
x− 4 = 0, x = 4

10) a) p(1) = 0 → a× 13+ b× 12+ c× 1+ d = 0 . That is a+ b+ c+ d = 0

b) p(−1) = 0. That is a(−1)3 + b(−1)2 + c(−1) + d = 0
a+ c = b+ d

c) a+ b+ c+ d = 0 and a+ c = b+ d
That is 2a+ 2c = 0 and 2b+ 2d = 0
a+ c = 0, b+ d = 0

d) In ax3 + bx2 + cx+ d choose a, b, c, d such that a+ c = 0, b+ d = 0
Example 2x3 + 3x2 − 2x− 3.
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1) If the sum of the coeffients of a polynomialp(y) is 0 then which of the following
is always a factor of p(y)

(a) y + 1 (b) y − 1 (c) y + 2 (d) y − 2

2) Which of the following is a factor of the polynomial x3 − x2 + x− 1?

(a) x− 1 (b) x− 3 (c) x+ 1 (d) x+ 3

3) p(x) = x2 − 5x+ 10 is a polynomial

a) Find p(2)

b) Write p(x)− p(2) as the product of two first degree factors.

4) p(x) = x3 − 1 and q(x) = x3 − x2 + x− 1

a) Find p(1) and q(1)

b) Which is the first degree common factor of p(x) and q(x)

5) p(x) is a polynomial in which p(12) = 0, p(13) = 0

a) Write two first degree factors of p(x)
b) If p(x) = k(2x − 1)(3x − 1) then what is the smallest positve integeral

value for k?

6) p(x) = ax2 − 2bx+ c is a polynomial in which x− 1 is a factor.

a) What is the relation between a, b and c

b) a, b, c are in an arithmetic sequence. Is this statement true . Explain

7) Consider the polynomial p(x) = x2 − 8x+ 12

a) If p(x) = (x− a)(x− b)then what is a+ b and ab

b) Find a, b and write p(x) as the product of two first degree factors
c) Find the solution of the equation p(x) = 0

8) p(x) = x2 − x− 12 is a polynomial

a) Write p(x) as the product of two first degree factors.



2 b) Solve the equation x2 − x− 12 = 0

9) ax2 − 3(a− 1)x− 1 is a polynomial in which x− 1 is a factor.

a) Find a

b) Write the polynomial .
c) Write other first degree factor of this polynomial.

10) x2+ax+b is a second degree polynomial . Two first degree factors are x−3
and (x+ 2)

a) Find a and b

b) Write the polynomial
c) Solve the equation x2 − x− 6 = 0

Answers
1) y − 1

2) x− 1

3) a) p(2) = 22 − 5× 2 + 10 = 4− 10 + 10 = 4

b) p(x)− p(2) = x2 − 5x+ 6 = (x− 2)(x− 3)

4) a) p(1) = 13 − 1 = 0, q(1) = 13 − 12 + 1− 1 = 0

b) x− 1

5) a) (x− 1
2), (x− 1

3)

b) p(x) = k(x− 1
2)(x− 1

3) = k(2x−1
2 )(3x−1

3 )

k (2x−1)(3x−1)
6

k = 6 gives p(x) = (2x− 1)(3x− 1)

6) a) Since x− 1 is a factor p(1) = 0
a× 12 − 2b× 1 + c = 0
a+ c = 2b

b) a+ c = 2b → a+ c = b+ b, b− a = c− b
That is a, b, c are in an arithmetic sequence.

7) a) x2 − 8x+ 12 = (x− a)(x− b) = x2 − (a+ b)x+ ab
a+ b = 8, ab = 12

b) (a− b)2 = (a+ b)2 − 4ab
(a− b)2 = 82 − 4× 12 = 16, a− b =

√
16 = 4

a+ b = 8, a− b = 4 . Solving 2a = 12, a = 6, b = 2



3c) x2 − 8x+ 12 = (x− 6)(x− 2 = 0)
x− 6 = 0 → x = 6
x− 2 = 0 → x = 2

8) a) x2 − x− 12 = (x− a)(x− b) = x2 − (a+ b)x+ ab

a+ b = 1, ab = −12
(a− b)2 = (a+ b)2 − 4ab
(a− b)2 = 12 − 4×−12 = 49, a− b =

√
49 = 7

a+ b = 1, a− b = 7 . Solving 2a = 8, a = 4, b = −3
x2 − x− 12 = (x− 4)(x+ 3)

b) x2 − x− 12 = (x− 4)(x+ 3) = 0, x = 4,−3

9) a) x− 1 is a factor. Therfore a× 12 − 3(a− 1)× 1− 1 = 0
a− 3a+ 3− 1 = 0
−2a+ 2 = 0, 2a = 2, a = 1

b) p(x) = x2 − 1

c) x+ 1

10) a) Let p(x) = x2 + ax + b .Since x − 3 and x + 2 are factors p(3) =
0, p(−2) = 0
32 + 3a+ b = 0, 3a+ b = −9
(−2)2 − 2a+ b = 0, 2a− b = 4
Solving the equations a = −1, b = −6

b) p(x) = x2 − x− 6

c) x2 − x− 6 = 0
(x− 3)(x+ 2) = 0, x = 3,−2
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1) p(y)എʭബеപദȮിൽƁണകƴхെടȪക 0ആയാൽതാെഴ െകാǮȮിരിŉʭതിൽ
p(y)͆െട ഘടകം

(a) y + 1 (b) y − 1 (c) y + 2 (d) y − 2

2) x3 − x2 + x− 1എʭബеപദȮിെʾ ഘടകം ഏത് ?

(a) x− 1 (b) x− 3 (c) x+ 1 (d) x+ 3

3) p(x) = x2 − 5x+ 10 ഒͩ ബеപദമാണ്

a) p(2)എɃ?
b) p(x)−p(2)എʭത് രȒ് ഒʭാംŅതിബеപദȮിെʾഘടകമായിഎъȪക.

4) p(x) = x3 − 1 , q(x) = x3 − x2 + x− 1ആയാൽ

a) p(1) , q(1)എʭിവ കണňാŉക
b) p(x) , q(x)എʭിവ͆െട െപാȪ ഘടകം ഏത് ?

5) p(x)എʭബеപദȮിൽ p(12) = 0, p(13) = 0ആയാൽ

a) p(x)െʾ രമ്ട് ഒʭാംŅതി ഘടകƴൾഎъȪക
b) p(x) = k(2x− 1)(3x− 1)ആയാൽ kഎɃ?

6) p(x) = ax2 − 2bx+ cഎʭതിെʾ ഘടകമാണ് x− 1 .

a) a, b , cഎʭിവ ത̼ിͬчബʦെമʒ് ?
b) a, b, cസമാʒരേδണിയിലാണ് . ഈ˗Ѕാവനശരിയാേണാ? വിശദമാŉക

7) p(x) = x2 − 8x+ 12എʭബеപദȮിൽ

a) p(x) = (x− a)(x− b)ആയാൽ a+ b , abഎɃ?
b) a, bകണňാňി p(x) െന രȒ് ഒʭാംŅതിഘടകƴхെട Ɓണനഫലമായി
എъȪക

c) p(x) = 0എʭസമവാകĿȮിെʾ പരിഹാരം കണňാŉക

8) p(x) = x2 − x− 12എʭബеപദȮിൽ

a) p(x) െന രȒ് ഒʭാംŅതി ബеപദƴхെട Ɓണനഫലമായി എъȪക



2 b) x2 − x− 12 = 0െʾ പരിഹാരƴൾ കണňാŉക

9) ax2 − 3(a− 1)x− 1എʭബеപദȮിെʾ ഘടകമാണ് x− 1.

a) aകണňാŉക
b) ബеപദം എъȪക .
c) മെѯാͩ ഒʭാംŅതി ഘടകം എъȪക.

10) x2+ax+b ഒͩ രȒാംŅതി ബеപദം . x−3 , (x+2)എʭിവഘടകƴളാണ്

a) a ͆ം b͆ം കണňാŉക
b) ബеപദം എъȪക
c) x2 − x− 6 = 0എʭസമവാകĿȮിെʾ പരിഹാരം കണňാŉക

Answers
1) y − 1

2) x− 1

3) a) p(2) = 22 − 5× 2 + 10 = 4− 10 + 10 = 4

b) p(x)− p(2) = x2 − 5x+ 6 = (x− 2)(x− 3)

4) a) p(1) = 13 − 1 = 0, q(1) = 13 − 12 + 1− 1 = 0

b) x− 1

5) a) (x− 1
2), (x− 1

3)

b) p(x) = k(x− 1
2)(x− 1

3) = k(2x−1
2 )(3x−1

3 )

k (2x−1)(3x−1)
6

k = 6 gives p(x) = (2x− 1)(3x− 1)

6) a) x− 1ആയതിനാൽ p(1) = 0
a× 12 − 2b× 1 + c = 0
a+ c = 2b

b) a+ c = 2b → a+ c = b+ b, b− a = c− b
a, b, cസമാʒരേδണിയാണ് .

7) a) x2 − 8x+ 12 = (x− a)(x− b) = x2 − (a+ b)x+ ab
a+ b = 8, ab = 12

b) (a− b)2 = (a+ b)2 − 4ab
(a− b)2 = 82 − 4× 12 = 16, a− b =

√
16 = 4

a+ b = 8, a− b = 4 . Solving 2a = 12, a = 6, b = 2

c) x2 − 8x+ 12 = (x− 6)(x− 2 = 0)
x− 6 = 0 → x = 6
x− 2 = 0 → x = 2



38) a) x2 − x− 12 = (x− a)(x− b) = x2 − (a+ b)x+ ab
a+ b = 1, ab = −12
(a− b)2 = (a+ b)2 − 4ab
(a− b)2 = 12 − 4×−12 = 49, a− b =

√
49 = 7

a+ b = 1, a− b = 7 . പരിഹാരം കȒാൽ 2a = 8, a = 4, b = −3
x2 − x− 12 = (x− 4)(x+ 3)

b) x2 − x− 12 = (x− 4)(x+ 3) = 0, x = 4,−3

9) a) x− 1ഘടകമാണ് . a× 12 − 3(a− 1)× 1− 1 = 0
a− 3a+ 3− 1 = 0
−2a+ 2 = 0, 2a = 2, a = 1

b) p(x) = x2 − 1

c) x+ 1

10) a) p(x) = x2 + ax + b . x − 3 , x + 2 ഘടകƴളായതിനാൽ p(3) =
0, p(−2) = 0
32 + 3a+ b = 0, 3a+ b = −9
(−2)2 − 2a+ b = 0, 2a− b = 4
a = −1, b = −6

b) p(x) = x2 − x− 6

c) x2 − x− 6 = 0
(x− 3)(x+ 2) = 0, x = 3,−2
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1) x is a factor of the polynomial x3 + x2 + x+ k. What is the value of k?

(a) 0 (b) 1 (c) −1 (d) 2

2) In the polynomial p(x) = ax3+ bx2+ cx+ d , if x− 1 is a factor of p(x) then
a+ b+ c+ d is equal to

(a) 3 (b) 0 (c) 1 (d) −1

3) x2+10x+16 is written as the product of two first degree factors(x+a) and
(x+ b)

a) What is a+ b and ab

b) Write the polynomial as the product of two first degree factors.

4) p(x) = 2x2 + x+ 4 is a polynomial

a) Find p(1)

b) Is x− 1 a factor of p(x)− p(1)?

5) x+ 1 is a factor of x3 + 4x2 − 3x+ k

a) Find k

b) Using the value of k write the polynomial and check whether x − 1 is a
factor or not

6) In the polynomial p(x) , if p(1) = p(−1) = 0 then

a) Write two first degree factors of p(x)
b) Write a third degree polynomial having the factors x+ 1, x− 1 and x

7) Consider the polynomials p(x) = x3 + 1 and q(x) = x3 + x2 + x+ 1

a) Find p(−1)

b) Find q(−1)

c) Write the first degree common factor of p(x) and q(x)

8) 2x3+x2− 2x− 1 has two factors x− 1 and x+1. The third factor is ax+ b

a) Find a and b



2 b) Write the polynomial as the product of three first degree polynomials
c) Write the solutions of the equation 2x3 + x2 − 2x− 1 = 0

9) p(x) = x2 − 5x+ 9 is a polynomial

a) Find p(2) and p(3)

b) Find p(x)− p(2)

c) Write p(x)− p(2) as the product of two first degree factors.

Answers
1) 0

2) 0

3) a) x2 + 10x+ 16 = (x+ a)(x+ b) = x2 + (a+ b)x+ ab
a+ b = 10, ab = 16

b) a = 8, b = 2
(x+ 8)(x+ 2)

4) a) p(1) = 2× 12 + 1 + 4 = 7

b) p(x)− p(1) = 2x2 + x+ 4− 7 = 2x2 + x− 3
When x = 1 , the value of 2x2 + x− 3 becomes 0. That is , x− 1 is a factor.

5) a) p(x) = x3 + 4x2 − 3x+ k
Since x+ 1 is a factor p(−1) = 0
−1 + 4 + 3 + k = 0, k = −6

b) p(x) = x3 + 4x2 − 3x− 6.
p(1) = 1 + 4− 3− 6 = −4 ̸= 0
x− 1 is not a factor.

6) a) p(1) =→ x− 1 is a factor
p(−1) = 0 → x+ 1 is a factor
(x+ 1)(x− 1) is a factor. That is x2 − 1 is a factor.

b) Required polynomial is x(x2 − 1) = x3 − x .

7) a) p(−1) = (−1)3 + 1 = 0 . x+ 1 is a factor of p(x)
b) q(−1) = (−1)3 + (−1)2 + (−1) + 1 = −1 + 1− 1 + 1 = 0. x+ 1 is a factor of q(x)
c) (x+ 1) is the common factor.

8) a) 2x3 + x2 − 2x− 1 = (x− 1)(x+ 1)(ax+ b)
2x3 = ax3, a = 2
−1 = −b, b = 1

b) p(x) = 2x3 + x2 − 2x− 1 = (x− 1)(x+ 1)(ax+ b) = (x− 1)(x+ 1)(2x+ 1)

c) x = 1, x = −1, x = −1
2

9) a) p(2) = 22 − 5× 2 + 9 = 4− 10 + 9 = 3

b) p(x)− p(2) = x2 − 5x+ 9− 3 = x2 − 5x+ 6

c) p(x)− p(2) = (x− 2)(x− 3)
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1) x3 + x2 + x+ kഎʭബеപദȮിെʾ ഘടകമാണ്xഎưിൽ k͆െട വില?

(a) 0 (b) 1 (c) −1 (d) 2

2) p(x) = ax3+ bx2+ cx+ dഎʭബеപദȮിെʾഘടകമാണ് x− 1എưിൽ
a+ b+ c+ dഎɃ?

(a) 3 (b) 0 (c) 1 (d) −1

3) x2 + 10x + 16 െന (x + a) , (x + b)എʭീ ബеപദƴхെട Ɓണനഫലമായി
എъതാം.

a) a+ b , abഎɃ?
b) p(x)െന രȒ് ഒʭാംŅി ബеപദƴхെട Ɓണനഫലമായി എъȪക.

4) p(x) = 2x2 + x+ 4 ഒͩ ബеപദമാണ്

a) p(1)എɃ?
b) x− 1എʭത് p(x)− p(1)െʾ ഘടമാെണʭ്Ѝാപിŉക?

5) x+ 1എʭത് x3 + 4x2 − 3x+ kെʾ ഘടകമാണ്

a) kഎɃ?
b) ബеപദം എъതി x− 1ഘടകമാേണാ എʭ് പരിേശാധിŉക

6) p(x)എʭബеപദȮിൽ p(1) = p(−1) = 0ആയാൽ

a) p(x)െʾ രȒ് ഒʭാംŅതി ഘടകƴൾഎъȪക
b) x+ 1, x− 1 , xഎʭിവ ഘടകƴളായ ̯ʭാംŅതി ബеപദം എъȪക

7) p(x) = x3 + 1 , q(x) = x3 + x2 + x+ 1എʭിവ രȒ് ബеപദƴളാണ്

a) p(−1)എɃ?
b) q(−1)എɃ?
c) p(x) , q(x)എʭിവ͆െട ഒʭാംŅതി െപാȪഘടകം എъȪക

8) 2x3 + x2 − 2x− 1എʭബеപദȮിൽ x− 1 , x+1ഘടകƴളാണ് . ̯ʭാം
ഘടകം ax+ bആയാൽ

a) a , bഎɃ?



2 b) ബеപജെȮ ̯ʭ് ഒʭാംŅതി ഘടകƴхെട Ɓണനഫലമായി എъȪക
c) 2x3+x2−2x−1 = 0എʭബеപദȮിെʾപരിഹാരƴൾകണňാŉക

9) p(x) = x2 − 5x+ 9 ഒͩ ബеപദമാണ്

a) p(2) ,p(3)കണňാŉക
b) p(x)− p(2)എɃ?
c) p(x)− p(2)എʭത് രȒ് ഒʭാംŅതി ബеപദƴхെട Ȫകയായി എъȪക.

Answers
1) 0

2) 0

3) a) x2 + 10x+ 16 = (x+ a)(x+ b) = x2 + (a+ b)x+ ab
a+ b = 10, ab = 16

b) a = 8, b = 2
(x+ 8)(x+ 2)

4) a) p(1) = 2× 12 + 1 + 4 = 7

b) p(x)− p(1) = 2x2 + x+ 4− 7 = 2x2 + x− 3
x = 1ആയാൽ 2x2 + x− 3 െʾ വില 0. അതായത് , x− 1ഘടകമാണ് .

5) a) p(x) = x3 + 4x2 − 3x+ k
x+ 1ഘടകമായതിനാൽ p(−1) = 0
−1 + 4 + 3 + k = 0, k = −6

b) p(x) = x3 + 4x2 − 3x− 6.
p(1) = 1 + 4− 3− 6 = −4 ̸= 0
x− 1ഘടകമΓ.

6) a) p(1) =→ x− 1ഘടകമാണ് .
p(−1) = 0 → x+ 1ഘടകമാണ്
(x+ 1)(x− 1)ഘടകം . x2 − 1ഘടകമാണ് .

b) ബеപദം x(x2 − 1) = x3 − x .

7) a) p(−1) = (−1)3 + 1 = 0 . x+ 1എʭത് p(x)െʾ ഘടകമാണ്
b) q(−1) = (−1)3 + (−1)2 + (−1) + 1 = −1 + 1− 1 + 1 = 0. x+ 1എʭത് q(x)
c) (x+ 1)ഘടകമാണ് .

8) a) 2x3 + x2 − 2x− 1 = (x− 1)(x+ 1)(ax+ b)
2x3 = ax3, a = 2
−1 = −b, b = 1

b) p(x) = 2x3 + x2 − 2x− 1 = (x− 1)(x+ 1)(ax+ b) = (x− 1)(x+ 1)(2x+ 1)

c) x = 1, x = −1, x = −1
2

9) a) p(2) = 22 − 5× 2 + 9 = 4− 10 + 9 = 3

b) p(x)− p(2) = x2 − 5x+ 9− 3 = x2 − 5x+ 6

c) p(x)− p(2) = (x− 2)(x− 3)
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1) The end points of the diameter of a circle are (1, 1) and (7, 9). What is the center of the circle?

(a) (4, 5) (b) (1, 3) (c) (3, 1) (d) (0, 2)

2) ABCD is a parallelogram. If A(1, 1), B(4, 1) and C(7, 5) then D is

(a) (4, 3) (b) (4, 4) (c) (4, 5) (d) (7, 4)

3) O is the origin of coordinates , OABC is a parallelogram, B(7, 5).

a) Write the coordinates of A and C

b) What is the area of OABC

4) AB is a diameter parallel to x axis , CD is a diameter parallel to y axis.If the center of the circle is
(4, 4) and radius 3 then

a) Write the coordinates of A and B

b) Write the coordinates of C and D

5) ABCD is a parallelogram.If A(1, 1), B(3, 2), C(5, 7) then

a) Write the coordinates of D



2 b) Write the coordinates of the point where the diagonals intersect.

6) The vertices of the square ABCD are the points on a circle.The diagonal AC has the end points
A(2, 1) and C(8, 7)

a) Write the coordinates of the center of the circle.

b) What is the radius of the circle?

7) In the figure P (1, 2), Q(5, 3) and R(3, 0) are the mid points of the sides of triangle ABC

a) Suggest a suitable name to BPQR

b) Write the coordinates of the vertex B

c) Write the coordinates of A

8) P (x, y) is a point in between A(4,−3) and B(9, 7) on the line AB.
P (x, y) divides AB in the ratio 3 : 2

a) Find x

b) Find y

c) Locate the point Q on AB such that AQ : BQ = 2 : 1

9) A(1, 2).B(4, y), C(x, 6) and D(4, 2) are the vertices of a parallelogram.

a) Find x

b) Find y

c) What are the coordinates of the point the diagonals intersect.



310) Look at the figure carefully. ABCD is a quadrilateral drawn in a graph paper.

a) Write the coordinates of A,B,C,D

b) What is the length of the diagonal AC

c) What is the area of △CAB?

d) What is the area of △DCA?

e) Find the area of ABCD

Answers
1) (4, 5)

2) (4, 5)

3) a) A(4, 0), C(0 + 7− 4, 0 + 5− 0) = (3, 5)

b) Area= 4× 5 = 20

4) a) A(1, 4), B(7, 4)

b) C(4, 7), D(4, 1)

5) a) D(1 + 5− 3, 1 + 7− 2) = D(3, 6)

b) Intersecting point is the mid point of the diagonal. It is (1+5
2 , 1+7

2 ) = (3, 4)

6) a) Let O be the center of the circle.
O(2+8

2 , 1+7
2 ) = O(5, 4)

b) Radius AO =
√

(5− 2)2 + (4− 1)2 =
√
32 + 32 = 3

√
2

7) a) Parallelogram

b) B(1 + 3− 5, 2 + 0− 3) = B(−1,−1)

c) (3, 5)

8) a) x = 4 + 3
3+2(9− 4) = 4 + 3

5 × 5 = 4 + 3 = 7

b) y = −3 + 3
3+2(7−

− 3) = −3 + 6 = 3

c) Let Q(x, y) be the point
x = 4 + 2

2+1(9− 4) = 4 + 2
3 × 5 = 22

3

y = 11
3

9) a) The shift of x co-ordinates of A and B is 3. So the shift of x co-ordinates of C and D is also 3
4− 1 = x− 4, x = 7



4 b) Shift of the y co-ordinates of A and B is same as the shift of y co-ordinates of C and D
y − 2 = 6− 2, y = 6

c) Intersecting point is the mid point of the diagonal . It is (1+7
2 , 2+6

2 ) = (4, 4)

10) a) A(−1,−1), B(2, 1), C(−1, 3)D(−4, 3)

b) AC =| 3−− 1 |= 4

c) 1
2 × 4× 3 = 6

d) 1
2 × 4× 3 = 6

e) 12
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1) ഒͩ ΘȮȮിെʾ വĿാസാƞƴൾ (1, 1) ,(7, 9)ആയാൽ ΘȮേകʣം

(a) (4, 5) (b) (1, 3) (c) (3, 1) (d) (0, 2)

2) ABCD സാമാʒരീകമാണ് . A(1, 1), B(4, 1) , C(7, 5)ആയാൽ D

(a) (4, 3) (b) (4, 4) (c) (4, 5) (d) (7, 4)

3) O ആധാരബിʠΖം OABC ഒͩ സാമാʒരീകΖമാണ് .B(7, 5)ആയാൽ

a) A͆െട͆ം C͆െട͆ം ϮചകസംഖĿകൾ എъȪക
b) OABC͆െട പരːളവ് കണňാŉക

4) AB എʭത് x അŬȮിന് സമാʒരമായ വĿാസമാണ് , CD എʭത് y അŬȮിന് സമാʒരമായ
വĿാസമാണ് .ΘȮേകʣം (4, 4), ആരം 3ആയാൽ

a) A ͆െട͆ം B͆െട͆ം ϮചകസംഖĿകൾ എъȪക
b) C͆െട͆ം D͆െട͆ം ϮചകസംഖĿകൾ എъȪക

5) ABCDഒͩ സാമാʒരീകമാണ് .A(1, 1), B(3, 2), C(5, 7)ആയാൽ

a) D͆െട ϮചകസംഖĿകൾ എъȪക



2 b) സാമാʒരീകȮിെʾ വികർȤƴൾ ńǲി̮ǳʭ ബിʠ ഏത് ?

6) ABCD എʭസമചȪരȮിെʾ ശിർഷƴൾ ΘȮȮിെല ബിʠňളാണ് . AC എʭ വികർȤȮിെʾ
അƞƴൾ A(2, 1) , C(8, 7)ആയാൽ

a) ΘȮേകʣം ഏത് ?.

b) ΘȮȮിെʾആരം എɃ?

7) ചിɃȮിൽP (1, 2), Q(5, 3) ,R(3, 0)എʭിവABCഎʭɃിേകാണȮിെʾവശƴхെട മധĿബിʠňളാണ്

a) BPQR്͍ ഉചിതമായ േപെരъȪക

b) B͆െട ϮചകസംഖĿകൾ എъȪക

c) A͆െട ϮചകസംഖĿകൾ എъȪക

8) P (x, y)എʭബിʠ ഒͩ വരയിെല A(4,−3) , B(9, 7)എʭിവ്͍ ഇടയിലാണ് .
P (x, y)എʭബിʠ AB െയ 3 : 2എʭഅംശബʦȮിൽ ഭാഗിŉʮ

a) xഎɃ?

b) yഎɃ?

c) AQ : BQ = 2 : 1ആŃʭ വിധം Qഎʭബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക

9) A(1, 2).B(4, y), C(x, 6) , D(4, 2)എʭിവ സാമാʒരീകȮിെʾ ശീർഷƴളാണ്

a) xഎɃ?

b) yഎɃ?

c) വികർȤƴൾ ńǲി̮ǳʭ ബിʠ ഏത് ?



310) താെഴ െകാǮȮിരി്ŉʭ ചിɃം േനാŉക. ABCD ഒͩ ചȪർ̧ജമാണ് .

a) A,B,C,Dഎʭീ ശീർഷƴхെട ϮചകസംഖĿകൾ എъȪക
b) ACഎʭ വികർȤȮിെʾ നീളെമɃ?
c) △CAB͆െട പരːളവ് കണňാŉക?
d) △DCA͆െട പരːളവ് കണňാŉക?
e) ABCD͆െട പരːളവ് കണňാŉക

Answers
1) (4, 5)

2) (4, 5)

3) a) A(4, 0), C(0 + 7− 4, 0 + 5− 0) = (3, 5)

b) Area= 4× 5 = 20

4) a) A(1, 4), B(7, 4)

b) C(4, 7), D(4, 1)

5) a) D(1 + 5− 3, 1 + 7− 2) = D(3, 6)

b) ńǲി̮ǳʭ ബിʠ വികർȤȮിെʾ മധĿബിʠവാണ് . ഈബിʠ (1+5
2 , 1+7

2 ) = (3, 4)

6) a) O ΘȮേകʣമാണ് .
O(2+8

2 , 1+7
2 ) = O(5, 4)

b) ആരം AO =
√

(5− 2)2 + (4− 1)2 =
√
32 + 32 = 3

√
2

7) a) സാമാʒരീകം
b) B(1 + 3− 5, 2 + 0− 3) = B(−1,−1)

c) (3, 5)

8) a) x = 4 + 3
3+2(9− 4) = 4 + 3

5 × 5 = 4 + 3 = 7

b) y = −3 + 3
3+2(7−

− 3) = −3 + 6 = 3

c) Q(x, y) യിൽ x = 4 + 2
2+1(9− 4) = 4 + 2

3 × 5 = 22
3

y = 11
3

9) a) A͆െട͆ം B͆െട͆ം xϮചകസംഖĿയിെല മാѯം 3. C ͆െട͆ം D ͆െട͆ം xϮചകസംഖĿയിെല
മാѯം 3
4− 1 = x− 4, x = 7

b) ഇȪേപാെല, y − 2 = 6− 2, y = 6



4 c) വികർȤȮിെʾ മധĿബിʠവാണ് വികർȤƴൾńǲി ̮ǳʭബിʠ. ഈബിʠ (1+7
2 , 2+6

2 ) = (4, 4)

10) a) A(−1,−1), B(2, 1), C(−1, 3)D(−4, 3)

b) AC =| 3−− 1 |= 4

c) 1
2 × 4× 3 = 6

d) 1
2 × 4× 3 = 6

e) 12
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1) What is the slope of the line passing through (0, 3) and (7, 3)?

(a) 0 (b) 1 (c) −1 (d) 2

2) (3, 4), (7, 5) and (15, y) are the points on a line. What is y?

(a) 0 (b) 1 (c) 7 (d) 9

3) The line passing through (k, 4) and (−3,−2) has slope 1
2

a) Find k

b) Write the coordinates of another point on this line

4) Consider the points A(1, 1), B(3, 4) , C(−1, 3) and D(1, 6)

a) Find the slope of line AB and line CD

b) Are these lines parallel?

5) A line makes an angle 45◦ with the positive direction of x axis

a) What is the slope of this line

b) (4, 0) is a point on this line . Write the coordinates of one more point on this line?

6) The vertices of a triangle are A(−3, 2), B(3,−4) and C(1, 5)

a) Find the mid point of the side AB

b) Calculate the length of median to the side AB

7) A(2, 0), B(−6,−2), C(−4,−4) and D(4,−2) are the vertices of a quadrilateral

a) Find the slope of AB and CD

b) Find the slope of AD and BC

c) Suggest a suitable name to ABCD.

8) (1,−1), B(−1, 1) and (
√
3,
√
3) are the vertices of a triangle

a) Find the length of the sides

b) What kind of triangle is this ?

c) Find the mid point of the side AB

9) In triangle ABC ,A(1, 2), B(3,−4) and C(5,−6). Let O(x, y) be the center of the circle passing
through the vertices.

a) Form the equations to find the distance from circumcenter to the vertices

b) Find the center of the circle

c) Calculate the radius of the circle



2 10) Look at the picture given below. ABCD is a parallelogram

a) Write the coordinates of D
b) Write the coordinates of C
c) Find the perimeter of ABCD

d) Calculate the area of ABCD

Answers
1) 0

2) 7

3) a) −2−4
−3−k = 1

2
k = 9

b) Another point is (−1,−1).

4) a) Slope of AB is 4−1
3−1 = 3

2

Slope of CD is 6−3
1−−1

= 3
2

b) Since the lines have equal slope we can say the lines are parallel.

5) a) tan 45◦ = 1

b) (5, 1)

6) a) Mid point of AB is (−3+3
2 , 2+−4

2 ) = (0,−1)

b) Median is the line joining a vertex to the mid point of opposite side.
Length of median is

√
(1− 0)2 + (5−− 1)2 =

√
37

7) a) Slope of AB is −2−0
−6−2 = 1

4

Slope of CD is −2−−4
4−−4

= 1
4

b) Slope of AD is −2−0
4−2 = −1

Slope od BC is −4−−2
−4−−6

= −1

c) Since opposite sides are parallel the quadrilateral is a parallelogram.

8) a) AB =
√
22 + 22 = 2

√
2

BC =
√
(
√
3−− 1)2 + (

√
3− 1)2 = 2

√
2

AC = 2
√
2



3b) Equilateral triangle.
c) (0, 0)

9) a) OA2 = (x− 1)2 + (y − 2)2

OB2 = (x− 3)2 + (y + 4)2

OC2 = (x− 5)2 + (y + 6)2

b) Since OA = OB = OC we can write the following equations
(x− 1)2 + (y − 2)2 = (x− 3)2 + (y + 4)2. Expanding we get x− 3y = 5
(x− 3)2 + (y + 4)2 = (x− 5)2 + (y + 6)2. Expanding we get x− y = 9
Solving these the equations x− 3y = 5 and x− y = 9 we get y = 2, x = 11
Center of the circumcircle is (11, 2)

c) Radius is distance from (11, 2) to (1, 2) . It is 10

10) a) D(0, 9)

b) C(12, 14)

c) AB =
√
122 + 52 = 13

CD = 13, AD = BC = 5
Perimeter is 36

d) Area of the parallelogram is AD ×DB = 5× 12 = 60

1
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1) (0, 3) , (7, 3)എʭീ ബിʠňളിͭെട͆ч വര͆െട ചരിവ് എɃ?

(a) 0 (b) 1 (c) −1 (d) 2

2) (3, 4), (7, 5) ,(15, y)എʭിവ ഒͩ വരയിെല ബിʠňളാണ് . yഎɃ?

(a) 0 (b) 1 (c) 7 (d) 9

3) (k, 4) , (−3,−2)എʭി ബിʠňളിͭെട͆ч വര͆െട ചരിവ് 12ആണ്

a) kഎɃ?

b) വരയിെല മെѯാͩ ബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക

4) A(1, 1), B(3, 4) , C(−1, 3) , D(1, 6)എʭീ ബിʠňൾ പരിഗണിŉക

a) AB ͆െട͆ം CD͆െട͆ം ചരിവ് കണňാŉക

b) ഈ വരകൾ സമാʒരവരകളാേണാ?എƴെന മനസിലാňാം?

5) ഒͩ വരxഅŬȮിെʾ േപാസിѯീവ് ദിശ͆മായി 45◦ േകാൺ ͪപീകരിŉʮ

a) വര͆െട ചരിവ് എɃ?

b) (4, 0)ഈവരയിലായാൽ മെѯാͩ ബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക ?

6) ഒͩ ɃിേകാണȮിെʾ ശീർഷƴൾ A(−3, 2), B(3,−4) ,C(1, 5)ആണ്

a) AB͆െട മധĿബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക

b) ABയിേലŉч മധĿമവര͆െട നീളെമɃ?

7) A(2, 0), B(−6,−2), C(−4,−4) , D(4,−2)എʭിവ ചȪർ̧ജȮിെʾ ശീർഷƴളാണ്

a) AB , CD എʭിവ͆െട ചരിെവɃ?

b) AD , BCഎʭിവ͆െട ചരിവ് എɃ?

c) ABCD͆െട ഉചിതമായ േപെരʒ്?.

8) (1,−1), B(−1, 1) , (
√
3,
√
3)ɃിേകാണȮിെʾ ശീർഷƴളാണ്

a) വശƴхെട നീളെമɃ?

b) ɃിേകാണȮിെʾ െപെരъȪക ?

c) AB ͆െട വശȮിെʾ മധĿബിʠ എɃ?

9) ABC യിൽ ,A(1, 2), B(3,−4) , C(5,−6).
O(x, y)എʭത് പരിΘȮേകʣമാണ് .

a) പരിΘȮ േകʣΖം ശീർഷƴхം ത̼ിͬчഅകലം കാȐʭസമവാകĿƴൾ എъȪക

b) പരിΘȮേകʣം കണňാŉക

c) ΘȮȮിെʾആരം കണňാŉക



2 10) ചിɃം േനാŉക. ABCD സാമാʒരീകമാണ്

a) D͆െട ϮചകസംഖĿകൾ എъȪക
b) C͆െട ϮചകസംഖĿകൾ എъȪക
c) ABCD ͆െട Ʒѯളവ് എɃ?
d) ABCDപരːളവ് കണňാŉക

Answers
1) 0

2) 7

3) a) −2−4
−3−k = 1

2
k = 9

b) മേѯാͩ ബിʠ (−1,−1).

4) a) AB ͆െട ചരിവ് 4−1
3−1 = 3

2

CD ͆െട ചരിവ് 6−3
1−−1

= 3
2

b) ചരിΖകൾ ȪലĿമായതിനാൽ വരകൾ സമാʒരം .

5) a) tan 45◦ = 1

b) (5, 1)

6) a) AB ͆െട മധĿബിʠ (−3+3
2 , 2+−4

2 ) = (,−1)

b) ശീർഷȮിൽ നിʮം എതിർ വശȮിെʾ മധĿബിʠവിേലňчഅകലമാണ് മധĿമȮിെʾ നീളം .
മധĿമȮിെʾ നീളം

√
(1− 0)2 + (5−− 1)2 =

√
37

7) a) AB ͆െട ചരിവ് −2−0
−6−2 = 1

4

CD ͆െട ചരിവ് −2−−4
4−−4

= 1
4

b) AD ͆െട ചരിവ് −2−0
4−2 = −1

BC ͆െട ചരിവ് −4−−2
−4−−6

= −1

c) എതിർ വശƴൾ സമാʒരƴളാണ് . സാമാʒരീകം .

8) a) AB =
√
22 + 22 = 2

√
2

BC =
√
(
√
3−− 1)2 + (

√
3− 1)2 = 2

√
2

AC = 2
√
2



3b) സമ̧ജɃിേകാണം .
c) (0, 0)

9) a) OA2 = (x− 1)2 + (y − 2)2

OB2 = (x− 3)2 + (y + 4)2

OC2 = (x− 5)2 + (y + 6)2

b) OA = OB = OC
(x− 1)2 + (y − 2)2 = (x− 3)2 + (y + 4)2.വിˁലീകരിƹാൽ x− 3y = 5
(x− 3)2 + (y + 4)2 = (x− 5)2 + (y + 6)2. വിˁലീകരിƹാൽ x− y = 9
പരിഹാരം കാȐകx− 3y = 5 ,x− y = 9
y = 2, x = 11
പരിΘȮേകʣം (11, 2)

c) (11, 2) , (1, 2) ത̼ിͬчഅകലമാണ് ആരം . ആരം 10

10) a) D(0, 9)

b) C(12, 14)

c) AB =
√
122 + 52 = 13

CD = 13, AD = BC = 5
Ʒѯളവ് 36

d) പരːളവ് AD ×DB = 5× 12 = 60
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1) The co-ordinates of the point where the lines x = −3 and y = 5 intersect.

(a) (3, 5) (b) (5, 3) (c) (−3, 5) (d) (−3,−5)

2) Which of the following is a point on the line x+ y = 0

(a) (0, 1) (b) (1,−1) (c) (−1, 0) (d) (0,−1)

3) A line passes through (1, 1) and (3, 4).

a) What is the slope of this line?
b) Write the equation of this line.

4) Consider the line 2x+ 3y = 6

a) What are the points at which the line cut the coordinate axes?
b) Write the slope of this line.

5) The line x+ y = 2 intersect x axis at A and y axis at B

a) Write the coordinates of A and B

b) If O is the origin of coordinates then what is the radius of the circumcircle
of triangle AOB?

6) 3x− y = 9 is the equation of a line.

a) What is the slope of this line?
b) Write the equation of another line parallel to this line.

7) The lines x + y = 4, x + y = −4, x − y = 4, x − y = −4 encloses a
quadrilateral.

a) What are the vertices of this quadrilateral?
b) Suggest a suitable name to this quadrilateral.
c) What is the area of this quadrilateral?

8) A line passes through the points (a, 0) and (0, b)

a) Write the equation of the line.
b) Rewrit the equation as x

a +
y
b = 1



2 c) If (p, q) is the mid point of the line joining (a, 0) and (0, b) then prove that
x
p +

y
q = 2

9) Consider the points (6, 0) and (0, 6)

a) What are the coordinates of the mid point of the line joining these points
b) A line passing through the mid point and makes 45◦ with x axis.Write the

equation of this line .
c) Write two more points on this line

10) Consider the points (1, 2), (5, 7).

a) What is the slope of the line passing through these points ?
b) Write the equation of this line?
c) At what point the line cut x axis ?
d) At what point the line cut y axis?

Answers
1) (−3, 5)

2) (1,−1)

3) a) Slope= 4−1
3−1 = 3

2

b) Let (x, y) be a point on this line.
y−1
x−1 = 3

2
2(y − 1) = 3(x− 1),2y − 2 = 3x− 3
2y − 2− 3x+ 3 = 0, 3x− 2y = 1

4) a) When the line cut x axis y = 0
2x+ 3× 0 = 6, 2x = 6, x = 3 .The point on x axis is (3, 0)
When the line cut y axis x = 0 . The point is (0, 2)

b) Slope = 0−2
3−0 = −2

3

5) a) At A , y = 0.x+ 0 = 2, x = 2. The point A(2, 0)
At B , x = 0. The point B(0, 2)

b) Triangle OAB is a 45◦ − 45◦ − 90◦ triangle. Hypotenuse is 2
√
2. Radius of the circumcircle is

half of hypotenuse. Radius
√
2

6) a) Slope = −3
−1 = 3

Lines having equal slopes are parallel lines. In the equation of line slope depends on the coefficients
of x and y. Slope is independent of constant term.
If ax+ by = c is the equation of line, slope = −a

b .

b) We can write equation of line parallel to given by changing the constant term without changing
other terms.
Example 3x− y = 1
Another example 3x− y = 0. It is parallel to 3x− y = 9 and passes through origin.



37) An illustration is given below . Not necessary in the answer.

a) A(4, 0), B(0, 4), C(−4, 0), D(0,−4)

b) Square
c) Side is 4

√
2. Area of the square is 32

8) a) Let (x, y) be a point on the line. Taking slopes we can write y−0
x=a = b−0

0−a
y

x−a = −b
a , ay + bx = ab

b) Dividing both sides by ab , we get
ay
ab +

bx
ab = ab

ab
x
a + y

b = 1

c) If (p, q) is the mid point of the line joining (a, 0) and (0, b) then p = a+0
2 , q = 0+b

2
a = 2p, b = 2q
Equation becomes x

2p + y
2q = 1 . That is x

p + y
q = 2

9) a) (3, 3)

b) The line passes through (3, 3) and makes 45◦ with x axis in the positive direction. Slope of the
line is tan 45 = 1
y−3
x−3 = 1 , x = y is the equation of the line.

c) 0, 0), (−1,−1) are two points on this line.

10) a) Slope = 7−2
5−1 = 5

4

b) Let (x, y) be a point on the line
y−2
x−1 = 5

4
4y − 5x = 3

c) (−3
5 , 0)

d) (0, 34)

1
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1) x = −3 , y = 5എʭീ വരകൾ ńǲി̮ǳʭ ബിʠ ഏത് ?

(a) (3, 5) (b) (5, 3) (c) (−3, 5) (d) (−3,−5)

2) താെഴ െകാǮȮിരിŉʭതിൽ x+ y = 0എʭ വരയിെല ബിʠ

(a) (0, 1) (b) (1,−1) (c) (−1, 0) (d) (0,−1)

3) (1, 1) . (3, 4)എʭീ ബിʠňളിͭെട ഒͩ കടʮേപാŃʭ വര പരിഗണിŉക.

a) ഈ വര͆െട ചരിവ് എɃ?
b) വര͆െട സമവാകĿം എъȪക

4) 2x+ 3y = 6എʭ വര പരിഗണിŉക

a) വര ϮചകാŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?
b) വര͆െട ചരിവ് എɃ?

5) x+ y = 2എʭ വര xഅŬെȮ A യിͬം y അŬെȮ Bയിͬം ഖșിŉʮ

a) A͆െട͆ം B͆െട͆ം ϮചകസംഖĿകൾ എъȪക
b) Oആധാരബിʠവായാൽ AOB͆െട പരിΘȮേകʣം എʒ് ?

6) 3x− y = 9എʭ വര പരിഗണിŉക.

a) വര͆െട ചരിവ് എɃ?
b) ഈ വര്͍ സമാʒരമായ മെѯാͩ വര͆െട സമവാകĿം എъȪക.

7) x+y = 4, x+y = −4, x−y = 4, x−y = −4എʭീ വരകൾ ഒͩ ചȪർ̧ജം
ͪപീകരിŉʮ.

a) ശീർഷƴхെട ϮചകസംഖĿകൾ എъȪക?
b) ചȪർ̧ജȮിന് അʎേയാജĿമായ േപെരъȪക.
c) പരːളവ് കണňാŉക?

8) (a, 0) , (0, b)എʭീ ബിʠňളിͭെട͆ч വര പരിഗണിŉക

a) വര͆െട സമവാകĿം എъȪക.
b) സമവാകĿെȮ x

a +
y
b = 1തരȮിലാŉക



2 c) (p, q) എʭത് (a, 0) , (0, b) എʭീ ബിʠňെള േയാജിːിŉʭ വര͆െട
മധĿബിʠ ആയാൽ x

p +
y
q = 2എʭ് െതളിയിŉക

9) (6, 0) , (0, 6)എʭീ ബീʠňൾ പരിഗണിŉക

a) ഈബിʠňൾ ത̼ിൽ േയാജിːിŉʭ വര͆െട മധĿബിʠ എъȪക

10) a) ഈബിʠňളിͭെട കടʮേപാŃʭ വര͆െട ചരിവ് എɃ ?
b) വര͆െട സമവാകĿം എъȪക?
c) ഈ വര xഅŬെȮഖșിŉʭബിʠ ഏത് ?
d) ഈ വര y അŬെȮഖșിŉʭബിʠ ഏത് ?
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